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(iii) @S —% 5 397 G771 & 16 7% TglashetiT IR & Uh-Tb 3% & Jo7 & |
(iv) GUE—GH Y7 & 17 G 21 7% 317 Tg-IT0T THR & G-3 3% & Fo7 & |
(v) GUE—TH T G 22 T 28 T Tg-ITNT FBR 3 A-AT 3] & Jo7 & |
(vi) G — 94 ¥97 G729 TG 30 G5 -IT0T JHR & TR—-TR 375! & Fo7 & |
(vii) UG — & H J97 G&I1 31 & 33 HE-STEIRT Gra-qid 3] & J97 8 /|
(viii) Fo7-T7 F GHF [6eheT T8 1697 T & | Feid, Gve-@ & 1 397 4, Gve-T & 1 F97 7,
GUS-g & 2 Fo1 4 7T GUS-F & 3 Fo) § TR 957 BT I 1897 77 8 |

(ix) Fepcict BT ITINT AT 8 /

c=3x 108 m/s

h=6.63 x 10734 Js

e=1.6x10"19C

Hy=4n x 107" Tm A

g = 8.854 x 10712 C2 N-! m~2

1
1 =9 x 109 N m? C2
g

§eIg 1 GM (m) = 9.1 x 1031 kg
g T geIAH = 1.675 x 10727 kg
et 1 gl = 1.673 x 1027 kg
RIS §&AT = 6.023 x 1023 ¥fd 719 91

SieeemH frdie = 1.38 x 10723 JK-!
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General Instructions :
Read the following instructions very carefully and follow them :

(1) This question paper contains 33 questions. All questions are
compulsory.

(i) Question paper is divided into FIVE sections — Section A, B, C, D
and E.

(i1z) In Section A : Question number 1 to 16 are Multiple Choice (MCQ) type
questions carrying 1 mark each.

(tv) In Section B : Question number 17 to 21 are Very Short Answer (VSA)
type questions carrying 2 marks each.

(v) In Section C : Question number 22 to 28 are Short Answer (SA) type
questions carrying 3 marks each.

(vi) In Section D : Question number 29 & 30 are Long Answer (LA) type
questions carrying 4 marks each.

(vit) In Section E : Question number 31 to 33 are Case-Based questions
carrying 5 marks each.

(viit) There is no overall choice. However, an internal choice has been prouvided in
1 question in Section-B, 1 question in Section—C, 2 questions in Section—D
and 3 questions in Section—E.

(ix) Use of calculators is NOT allowed.

c=3x 10% m/s

h =6.63 x 10734 Js
e=16x1019C

o = 47 x 1077 Tm A1

gy = 8.854 x 10712 C2 N1 m~2

1
T =9 x 109 N m2 C2
7t80

Mass of electron (m,) = 9.1 x 1031 kg

Mass of neutron = 1.675 x 1027 kg
Mass of proton = 1.673 x 10727 kg
Avogadro’s number = 6.023 X 1023 per gram mole

Boltzmann constant = 1.38 x 10723 JK!
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SECTION - A

1. An ammeter and a voltmeter are connected in series to a battery. Their
readings are noted as ‘A’ and V' respectively. If a resistor is connected in
parallel with the voltmeter, then

(A) A will increase, V will decrease.
(B) A will decrease, V will increase.
(C) Both A and V will decrease.
(D) Both A and V will increase.

2. An ac voltage is applied across an ideal inductor. The current in it

(A) leads the voltage by &) cycle.
1
(B) lags the voltage by (Z) cycle.
1
(C) leads the voltage by (5) cycle.

1
(D) lags the voltage by (E) cycle.

3. Aniron needle is kept near a strong bar magnet. It will experience
(A) a force of attraction and no torque.
(B) a force of attraction and a torque.
(C) atorque and no force.

(D) neither a force nor a torque.

4. A galvanometer shows full scale deflection for a current Ig. If a shunt of
resistance S, is connected to the galvanometer, it gets converted into an
ammeter of range (0 — I). When resistance of the shunt is made S,, its

S
range becomes (0 — 2I). Then (—lj 18

SZ

I+1 11

g g

A 177 ® 151
g g

91— 1 -1

g g

© -1, D) 211,
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5. IAIEA-HIC &G 0.5 m2 Hl HIs FUSTH 37U et o ATeTEsaq HrERd fehelt Fraehir

& U T} | 98 & B = 0.5t2 + 2t % ®9 7 fomor i1 8, &l B HAT qT t Jehvg |
21t =1s WHUSel H UNT emf & —

(A) 05V B) 1.0V

C) 15V D) 3.0V

6. 5 x 1028 qmAm] Ui =Hier & g Si fSheet 1 U167 1 ppm Aigdr & T &% @1
Tomam e B | Afe mifea foreeet o forei <At BTgaT 4.5 x 109 m—3 Ui St 2 @1 Si foReeet
T ST TSN FAT&ehT sh! FZAT (m—3 H) Bl & T
(A) 1.2 x 1015 (B) 1.5 x 1016
(C) 3.0x 1015 (D) 2.0 x 1016

7. ToRd TITE o I Q1 =I(FASTHT o Ste RTHA fehat g W Feuforst et faw gt 8 7

(A) 0.8fm B) 1.6fm
(C) 2.0fm (D) 2.8fm

8. = o fopelt fg-Tord wwr o, amy @ ThS <SS 0.44 mm RA T 7 | Al Tweq Tfeh

sz T (n = 5 | B gt € e et <herd 2

(A) 0.88 mm B) 0.59 mm
(C) 0.33 mm (D) 0.44 mm

9. =R UG A, B, C 3 D % foerg smmaferd fafertom <61 stmgfa (v) = ar fleft fava (v)
< TorartoT =1 3@ o quiia T & | |t g3l H BIeiseiagia S i o foie, 3dfaa
ferfentoti <6t T smmgfr 3 ferw srferenam Tfaet STl ot Wicigoidei areft o1g &

Vo4 A B CD

/Y

0 >v

A) A (B) B

€ C D) D
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5. A coil of area of cross-section 0.5 m?2 is placed in a magnetic field acting
normally to its plane. The field varies as B = 0.5t + 2t, where B is in tesla
and t in seconds. The emf induced in the coil at t = 1s 1s
(A) 05V B) 1.0V
C) 15V (D) 3.0V

6. A pure Si crystal having 5 x 10%® atoms m™ is dopped with 1 ppm
concentration of antimony. If the concentration of holes in the doped
crystal is found to be 4.5 x 109 m~3, the concentration (in m3) of intrinsic
charge carriers in Si crystal is about

(A) 1.2 x 10 (B) 1.5 x 1016
(C) 3.0 x 10 (D) 2.0 x 1016

7. The potential energy between two nucleons inside a nucleus is minimum
at a distance of about

(A) 0.8fm (B) 1.6fm
(C) 2.0fm (D) 2.8fm

8. In a Young’s double-slit experiment in air, the fringe width is found to be

4
0.44 mm. If the entire setup is immersed in water (n = 5), the fringe width

will be
(A) 0.88 mm (B) 0.59 mm
(C) 0.33mm (D) 0.44 mm

9. The variation of the stopping potential (V) with the frequency (v) of the

incident radiation for four metals A, B, C and D is shown in the figure.
For the same frequency of incident radiation producing photo-electrons in
all metals, the kinetic energy of photo-electrons will be maximum for

metal
Vo4 A B COD
0 >V
A A (B) B
€ C M) D
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10. gggieH T <t fgam srecen A foreft gotaei <t Sl —13.6 eV 7 | 9UH 3l

Sreen i 5 TR 6 TR 3t i FRifere St 2

(A) -13.6¢eV, 27.2eV (B) —6.8¢eV, 13.6eV
(C) 3.4eV,—6.8¢eV (D) 6.8eV,-3.4eV

11. Ie1 < 3G H SRF 1 STH aTelt foreagraeh ™ aui aidl & —
(A) e fentl (B) wwrsiT fopui
©) X-fu (D) T feR

12. Tl wge ggmael o STfigeae TR AR Sl Behd gl A 1 cm 3R 2 cm & | A
39 GEHGEN I ARl i &S 10 cm 8, A T RIS &1 9 ¢@H @ fole 38
GeAeefl ¥ T STEE 7
A) 250 B) 200
(C) 150 (D) 125

TR HEAT 13 § 16 § 1 9 T T & — T 1 AMHUA (A) TAT GHL 1 HRU (R)

Aaet foraT T B | 1 I % "E ST 61 = few u i (A), (B), (C) (D) H A

Wﬁﬁﬂ:

(A) Ffe ATRYT (A) 3R HROT (R) GHT 9cF 8 3T HRIT (R), AMTHT (A) 6T T8t
EE |

(B) dfe 3fiEpeA (A) 3R RO (R) SHT IcF & 3T ST (R), ANTHAT (A) 6 Tt
T T8 & |

(C) afe M (A) T 8 T SR (R) 318 ¢ |

(D) afe 3TN (A) 318 8 ISR (R) ot 3 2 |

13. AN (A) : HIS TeHI-HUT fhEl Meg—T1eh sl TR Tad™ & | 180° o v W
Teh1ui o foTe Herg wraret stftehan 2 2 |
RO (R)  : Torefl Towr-pu1 Tehvia SR | HoE UTe oled ATieh hi URHTY] T
TR s g |

14. ARHA (A) : T Tg- T3t Tm o S S el Hog Hid TWER AT g W R &,
fiehuT Y 1 J&TUT T fohaT ST b & |

RO (R)  : Ths <i1eTs Q1 Al & sta gUeh o STIFRATIITC a1 & |
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10. The energy of an electron in the ground state of hydrogen atom 1is
—13.6 eV. The kinetic and potential energy of the electron in the first
excited state will be
(A) -13.6¢eV, 27.2eV (B) —6.8eV, 13.6eV
(C) 3.4eV,—6.8¢eV (D) 6.8eV,-3.4eV

11. The electromagnetic waves used to purify water are
(A) Infrared rays (B) Ultraviolet rays
(C) X-rays (D) Gamma rays

12. The focal lengths of the objective and the eyepiece of a compound
microscope are 1 cm and 2 cm respectively. If the tube length of the
microscope is 10 cm, the magnification obtained by the microscope for
most suitable viewing by relaxed eye is :

(A) 250 (B) 200
(C) 150 (D) 125

For Questions 13 to 16, two statements are given — one labelled Assertion (A)

and other labelled Reason (R). Select the correct answer to these questions

from the options as given below.

(A) If both Assertion (A) and Reason (R) are true and Reason (R) is correct
explanation of Assertion (A).

(B) If both Assertion (A) and Reason (R) are true and Reason (R) is not the
correct explanation of Assertion (A).

(C) If Assertion (A) is true but Reason (R) is false.

(D) If both Assertion (A) and Reason (R) are false.

13. Assertion (A) : An alpha particle is moving towards a gold nucleus. The
impact parameter is maximum for the scattering angle
of 180°.

Reason (R) : The impact parameter in an alpha particle scattering
experiment does not depend upon the atomic number of
the target nucleus.

14. Assertion (A) : In a Young’s double-slit experiment, interference
pattern is not observed when two coherent sources are
infinitely close to each other.

Reason (R) : The fringe width is proportional to the separation
between the two sources.

2255/5/2 9 P.T.O.
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15. JANHYT (A) : 3@ H ST ITTAR et Tael JTTRR IoTd oh & 319 W T HHH AT
T gATeT 3T TS ThauH fIaiid & | 39 961 o g O T qiomH
forga 8 OC & srgfen T B |

FO(R) : EHIFRI IR fh O MR fova =i 2 |

+ A 4

16. YA (A) : Toreft greehir & o wifomm fepeft A shor sht St ufiafda & gt
2|

HRO(R)  : SHHI DRV I8 & ohiF &7 § Mad fehel 31Taw W Freehid ot g
S T S I BT R |

Qs -9

17. (a) 30 cm Yo fopeft anf & g sfiaf A, B, C 3R D W 1 uC, -2 pC, 1 pC 31K
—2 pC o I foreg STrerT shaeT: fUd 8 | 38 1 o g T 8T 4 puC % 3Tee W
T I TS 14 ST |
YT
17. (b) 10 cm YT o el THaTE B o Tk MY T 1 pC & foreg s fa 2 | 34
19 & g W e Torega & 7 <hifsTe |

18. foreht s wyeehv 8 B 1 e erwd L % Rt € s, e a1 vt 21 @l

B, T HRd gwqﬁqaﬁf‘)%mmww | Fe, Fg =Teieh T-HEl i
T g1, ar oft R 31g st 99 g 7 giE i |
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15. Assertion (A) : Equal amount of positive and negative charges are
distributed uniformly on two halves of a thin circular
ring as shown in figure. The resultant electric field at

the centre O of the ring is along OC.

Reason (R) : It is so because the net potential at O is not zero.

r A 4

16. Assertion (A) : The energy of a charged particle moving in a magnetic

field does not change.

Reason (R) : It is because the work done by the magnetic force on the

charge moving in a magnetic field is zero.

SECTION - B
17. (a) Four point charges of 1 uC, =2 puC, 1 uC and -2 uC are placed at the

corners A, B, C and D respectively, of a square of side 30 cm. Find
the net force acting on a charge of 4 uC placed at the centre of the

square.
OR

17. (b) Three point charges, 1 pC each, are kept at the vertices of an
equilateral triangle of side 10 cm. Find the net electric field at the

centroid of triangle.

%
18. Derive an expression for magnetic force F acting on a straight conductor

%
of length L carrying current I in an external magnetic field B. Is it valid
when the conductor is in zig-zag form ? Justify.

2255/5/2 11 P.T.O.
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19.

20.

21.

22.

23.

23.

Toreft 3T TguT AT Sshal T3S 30 cm B | I8 o Torear o1 Torar o @mest & 3118 918 1
ffers AT 7 | fora 37 36k wiiafara & &= gerehd F1d it |

e § it b srfrferan § MeV § ger / Staenfia St ftesfera Hife :

mGH) = 3.016049

1.6 MeV 311 1 his Miei fortl Mieg — A1fYeh (Z = 79) hT 3TR ITTHA ohidT & | SHHT
1 Tepeam glt Fma T |

Tog - T

2.1 eV HRI%eH % el TehmI-FATEl I8 1 150 nm T0Ieed o fafern g feoepfa
fpan T B | 9@ HifS smafaa B A (@) <@l quredd, (i) o (eV H) 3R
(ii1) 3eATSTd BT SAFLHT o SAThaH Tierst Fnall |

(@) () it frm foafa | S e fem o STan Tt s ufty o Ifa am
Treeh I Tt H Ui o hoT o1 forer haeht 7 | gweht gfd shifre |
(i) 2 m TS I FRET G1q hT B F, 60 rev/s Hi SEMR & 30 g H T
T, 39 38, S FEh! TS o A &, b THd: Foid hUT TR | 59
&9 H T o YOH dA o oraq 2T & fopell weham™ Fraehia & 1 =Te].
ToRer o 2 | 39 BT % g 3TR T R e IR e.m.f. Titesfera FHifsm |
YT
b) () TErRRE iy e forgest 3ah |men Hifvu |
(i) 20 cm ¥ gUfehd Q T €Y AR & F9H oo § 5 A 3R 10 A 31 910 errfed
AT R | 5 dRI o e H fer fonelt formg e grerhi & <1 wftmmor afv fean
BREIE
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19. The radius of curvature of a convex mirror is 30 cm. It forms an image of
an object which 1s half the size of the object. Find the separation between
the object and the image.

20. Calculate the energy released/absorbed (in MeV) in the nuclear reaction :
1 3 2 2
H+ H—— H+ H
1 1 1 1
Given : mGH) = 1.007825
mGH) = 2.014102 p

mGH) = 3.016049

21. A proton of energy 1.6 MeV approaches a gold nucleus (Z = 79). Find the
distance of its closest approach.

SECTION -C

22. A photosensitive surface of work function 2.1 eV is irradiated by radiation
of wavelength 150 nm. Calculate (i) the threshold wavelength, (i1) energy
(in eV) of an incident photon, and (ii1)) maximum kinetic energy of emitted
photoelectron.

23. (a) (@) State Lenz's Law. In a closed circuit, the induced current
opposes the change in magnetic flux that produced it as per the
law of conservation of energy. Justify.

(1) A metal rod of length 2 m is rotated with a frequency 60 rev/s
about an axis passing through its centre and perpendicular to
its length. A uniform magnetic field of 2T perpendicular to its
plane of rotation is switched-on in the region. Calculate the
e.m.f. induced between the centre and the end of the rod.

OR
23. (b) (1) State and explain Ampere’s circuital law.

(11) Two long straight parallel wires separated by 20 cm, carry 5 A
and 10 A current respectively, in the same direction. Find the
magnitude and direction of the net magnetic field at a point
midway between them.

2255/5/2 13 P.T.O.
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24. (i) Terslt g1g < Wiy A9 TUTTeR’ Shi TR fAfE |

(i) TTI-Frg h AT BT ! FfriEehar o for=wr &1 T Gt |
(i) 27 °C W el ar &1 9felier 10 Q 8 | —73 °C W 39 AR 1 Ifale F1d I |
39 AR % e shi Tfaier ard 7uries 1.70 x 1074 °C-1 3§ |

25. ToEId-TFeeh TdeH o 39 | 1 W fTRIT
() o= Jest gRI U JTel @i gl Uk feam ram 2 |
(i) TSRT IURANT Y-3UET o TEEhT § T JTar g |
(iii) TSRt SURIT T o o T Jug F fopat AT R |
Tedeh el H AlTeEd <l whife i ferflay |

26. (a) Tt p-n @Y SIS & 3T NI i =aE Hifse o 38 fegarl & &9 0
TN o ToTu Iuzger ST 2 |
(b) TNTY 3T i Tgrdr & foheft qui quT fepenl 1 srifafy i =men Hifs |

27. ol e ge fmfafaa 6 smen i
(a) *hIS Hifed HAeITeTh forgd -3 Bl ¢ |
(b) Te shi efer H fepeft p-n w1 T 1S I o =2 B § |
(c) Tortt SRITE T Yo 9T SATIETNG, €9 ¥ STIIH dlceal qX feft T8 it 2 |

98. IV = (1.0 x 107 m/s)i + (0.5 x 107 m/s)] & TRHH H1§ TowFA Fhef THTHH

e 8 B = (0.5 mT)) o 5w i Y39 i1 & | 369 g =1 ¢ aget vy 61 B
A ST | G0 hld T A1 Tg Feidgd @ 72 70 ot <eqan & 7 e W g, b
U T o T H $Hh g 0 1 TR W gl aitehfera i |
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24. (1) Define ‘temperature coefficient of resistance’ of a metal.
(11) Show the variation of resistivity of copper with rise in temperature.
(111) The resistance of a wire is 10 Q at 27 °C. Find its resistance at —73 °C.
The temperature coefficient of resistance of the material of the wire
is 1.70 x 1074 °C~L.,
25. Name the part of the electromagnetic spectrum which are
(1) stopped by face mask worn by welders.
(11) used in detectors in Earth satellites.
(111) used in ‘short-wave band’ in communication.
Also write the order of wavelengths, in each case.
26. (a) Explain the characteristics of a p-n junction diode that makes it
suitable for its use as a rectifier.
(b) With the help of a circuit diagram, explain the working of a full wave
rectifier.
27. Explain the following, giving reasons :
(a) A doped semiconductor is electrically neutral.
(b) In a p-njunction under equilibrium, there is no net current.
(¢) In a diode, the reverse current is practically not dependent on the
applied voltage.
28. An electron moving with a velocity v = (1.0 x 107 m/s)g + (0.5 x 107 m/s)?
%
enters a region of uniform magnetic field B = (0.5 mT)f. Find the radius of
the circular path described by it. While rotating; does the electron trace a
linear path too ? If so, calculate the linear distance covered by it during
the period of one revolution.
2255/5/2 15 P.T.O.
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29. 15 Ts" @ THae 3T9ades I8 § Forr 18 weh1fwes meem gt g | s & 7o arett
15 TR TRl 31 T8I | SHATTA 3T9aTd 2leht 310 o 99 § feopeft shio W ferarfera &1
STt 2 | 5w ok aered w1 SrdecHe = fou e Heey gry e foha ST 8

o (M)/ . A
p=sin| ™ sin

afe, R 26 o 98 TR ST B, TRl pvor R hifeeh v b 3, it A B,
Al 78 fohtoT gER I8 | SATada Tl Bl & ST quf SAidieh qurafdd &1 e 2 |
() A IR A % [TT T HIT FHAI;: O, 3T 0, § | HiA-TA =B & Y
Shifeh 10T BT (0, = 1.5, 1, = 1.33)
(A) 0,8 (B) 6,30, =
(©) 6,4 rferp (D) 6,d%H
(i) & qICE A 3R AR v 1 s TehT™1 oo fopell Hem A1eAm | JT9alad il &
a
(A) A 3R v QHl A g Bt @ |
(B) A gfg B 7 UG v IUEad Bl 7 |
(C) A\ T BRI 8 T v SIRETId &l & |
D) A 3R v gHT G HH BN 2 |
(i) (a) i T I T T arelt foReh senTer Y foptor & foru shifaes pior freram &

2
(A) T T % ferg (B) o1 aui % fw
(C) i aviss ferw (D) ST 99T o fetw

JAYAT
(i) (b) Toreht firem & Tum Sremenati § arft-ard @ a1, died 3R S yeeTe O
TR ¢ § | S frsw =an ferere <61 Rt § 2 a9 gEt g8 @ sredd s
ShHRL: 1R, Ty R rvss;, dad
A) ry<ry<ry B) ry<rg<ry
(C) rp<ry<ry D) rp=ry=ry
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SECTION -D

29. A prism is an optical medium bounded by three refracting plane surfaces.
A ray of light suffers successive refractions on passing through its
two surfaces and deviates by a certain angle from its original path.

The refractive index of the material of the prism 1s given by

A+ A
= sin(%) [ sin - If the angle of incidence on the second surface is

greater than an angle called critical angle, the ray will not be refracted
from the second surface and is totally internally reflected.

(i) The critical angle for glass is 6, and that for water is 6,. The critical
angle for glass-water surface would be (given allg = 1.5, u, =1.33)
(A) less than 0, (B) between 6, and 0,
(C) greater than 0, (D) less than 0,

(11) When a ray of light of wavelength A and frequency v is refracted into
a denser medium
(A) A and v both increase.
(B) A increases but v is unchanged.
(C) A\ decreases but v is unchanged.
(D) A and v both decrease.
(111) (a) The critical angle for a ray of light passing from glass to water
1s minimum for
(A) red colour (B) Dblue colour
(C) yellow colour (D) wviolet colour
OR
(111) (b) Three beams of red, yellow and violet colours are passed
through a prism, one by one under the same condition. When
the prism is in the position of minimum deviation, the angles of

refraction from the second surface are rp, ry and ry; respectively.

Then
A) ry<ry<ry B) ry<rgp<ry
(C) rp<ry<ry D) rg=ry=ry
2255/5/2 17 P.T.O.

.
Qcollegedunlas
India’s largest Student Review Platform



I —
(iv) M@ T <t IER HTS Tl R0 e \/2 % frelt frsw ABC W
AT AT H Tl 3 | TIe1 % %eteh AC 8 U & qvaTd I8 fohto
A

1 60°

-
B C

(A) fom ferafora gu wieft Tom wuft |

(B) ®a AC o 3few i Ta3i Hafl |
(C) 3rvafda Bft 3R frsm & aret T st |
(D) Ui SATaRe JEfad g |

30. GG 1 Afeheu ¥ qudEdi &1 weayul gfiest Bt 7 | et TudEa & 3] gefi
YT YA B Tehdl & | T Tohet TSI Teoh bl Tohelt aTer forela &= o @1 Siar 8,
foregd & % T et % < Y81 W faaTia Y Yehe B4 § | §9 3T %
TSI 2o o WAL <hTg Tergld & TTfid &1 a2 |
fortl) Tenfimr <1 enitar 39 uTfe &1 &1 4fgemtst & o9 & TIH &l W 91 9o &
e W AR it 7 | iy, et gt B et afad s Y e o
guTferd Bt & | SfcRierehl <At it denmfer =i oft Soft 3fk/an ured & ganfaa e

a1 2 |

() Trfofaa @@ o gha sm e 2
A) 0, (B) H,
€) N, (D) HCI

(i) el o fore freferfad & & i o1 weh e wei 7 ?
(A) e Terga 89 oAt srguieta o et et quaea o Je foya smept gar g s
I gt o wror aftafda B Smar 2 |
(B) @ fggat =1 Je foya et sy forega & ) fean & sgfew dan 2 |
(C) TUIEd U gerd AV I & |
(D) fereht wragd & wfiae Sftd i s o R Ica fergd & smer forgd &
% SBT3 |
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(1v) A ray of light is incident normally on a prism ABC of refractive index
\/5, as shown in figure. After it strikes face AC, it will
A

 60°

-
B C

(A) go straight undeviated

(B) just graze along the face AC
(C) refract and go out of the prism

(D) undergo total internal reflection

30. Dielectrics play an important role in design of capacitors. The molecules of
a dielectric may be polar or non-polar. When a dielectric slab is placed in
an external electric field, opposite charges appear on the two surfaces of
the slab perpendicular to electric field. Due to this an electric field is
established inside the dielectric.

The capacitance of a capacitor is determined by the dielectric constant of
the material that fills the space between the plates. Consequently, the
energy storage capacity of a capacitor is also affected. Like resistors,
capacitors can also be arranged in series and/or parallel.

(1) Which of the following is a polar molecule ?
@) 0, ® H,
(©) N, (D) HCI
(11) Which of the following statements about dielectrics is correct ?

(A) A polar dielectric has a net dipole moment in absence of an
external electric field which gets modified due to the induced
dipoles.

(B) The net dipole moments of induced dipoles is along the direction
of the applied electric field.

(C) Daelectrics contain free charges.

(D) The electric field produced due to induced surface charges
inside a dielectric is along the external electric field.
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(iii) T Torelt forgera smrafira qenfe 61 ufgetai = ffa et Tred et 1 W@ ST

(iv)

(iv)

31. (a)

31. (b)

2255/5/2

? 1 37 Gyl 3 gid S -

(A) ¥ AT 7 a2 35eh i forga & M sg AT 2 |

(B) ©e STt 2 T faga & M ue S g |

(C) = STt 2 T faga & g 9ran § |

(D) &g Tt g e fogd & oe STy |

(a) Tt oy & W genfer, foeht afgehisti &1 eawar A aun ufgshisti & o9
9 d &, 6T et C ) B | 59 Henfer <Y afgehtati & sfte &amet A, Hiers

(&) e vt K 1 2 e v fem e & 1 5 et 7 e 1
STt —
@ [5e1L ® |55
© [4}?5 1}00 (D) [K5JIF§4}C°
YT

(b) @ wurtal Rl aTiar 2 C, 3T 6 C, & 1 get 2vft 3R iRt urd §
AT ek TH-a0 & 99 St o Bl 9 Srer mn g | Aot gaeE 3R

q1Ye GRS T Gferd Setiat <l STATd BRI —

@ 5 ®

© = ™ =
wig - ¢

(i)  ToR AT & Ho AT H T i shis e JehRT 0T GHI HIEHI hi J2kh
T T I8 T TR BT i T I H T B | g5 w1 ISR ek
JAuEfca feror Giferu 3T 39 FehR TeT o 319 o -0 ST HeadH Shifory |

(i) = Tg-Terdt saw o forfi o o= 9ok 0.30 mm 3R ug 1 ferfi & gl
1.5 m g | 3TN fohT 7T WehTs1 1 AUTeed 600 nm 3 | s 1d THehiei fihst
ST <ol <peft et % o <61 gl BT IR |

JAYET

Q) Tore weret Tl @ wenter o foraa bt wfere faemm Shifse 3R forada e <t
1T ET |

(i) S fors forehl STaaat gdor & ga 3T ®rRed % s fod 7 | gdo g
Wﬁﬁﬁamﬁ%ﬁﬁq%ﬁmmwuﬁﬁwmﬁﬁﬂ
Terarfela g |
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(111)

(iv)

(iv)
31. (a)
31. (b)
2255/5/2

When a dielectric slab is inserted between the plates of an isolated
charged capacitor, the energy stored in it :

(A) increases and the electric field inside it also increases.

(B) decreases and the electric field also decreases.

(C) decreases and the electric field increases.

(D) 1increases and the electric field decreases.

(a) An air-filled capacitor with plate area A and plate separation d
has capacitance C,. A slab of dielectric constant K, area A and

: d). . i
thickness (gj is inserted between the plates. The capacitance of

the capacitor will become
4K K+5
(A) [5K n 1}00 ® { 4 }CO

© [4}?5 1}00 D) [K5J1r{ﬂcﬂ
OR

(b) Two capacitors of capacitances 2 C, and 6 C, are first connected

in series and then in parallel across the same battery. The ratio
of energies stored in series combination to that in parallel is

@ 5 ® 3
© = ) 15

SECTION - E

(1) A plane light wave propagating from a rarer into a denser
medium, is incident at an angle 1 on the surface separating two
media. Using Huygen’s principle, draw the refracted wave and
hence verify Snell’s law of refraction.

(11) In a Young’s double slit experiment, the slits are separated by
0.30 mm and the screen is kept 1.5 m away. The wavelength of
light used 1s 600 nm. Calculate the distance between the central
bright fringe and the 4th dark fringe.

OR

(1) Discuss briefly diffraction of light from a single slit and draw
the shape of the diffraction pattern.

(1) An object is placed between the pole and the focus of a concave
mirror. Using mirror formula, prove mathematically that it
produces a virtual and an enlarged image.
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32. (a) () fToreht forga Ty o fore wmfava 8 smfga il |

(i) 2 fag 3w o 3 q, Freft T fore & B 3 s 2, 3 2, T e
2 | 39 Fem <t feufos et o fore =i s i |

(iii) et 310) o1 fga 3ment 10730 Cm 3 | 7 359 10° V/m % Frgaem E &
39 TR Tra & o5 soemt a1et faga & & agfew B | forga & Y fean =y
fopeht &1or 3/ 60° < v W aRafad foham ST 7 | 3 & W fgya hi
feyfos St § uftad 3ma ST |

FHoET

32. (b) () Tr== R Tl gaet Micfie @e 1 ThadH JEi 31EY 89 o 8 | TRE
T 61 3T ik M @A+ (1) ITe 3R (1) fiew foega @ % foe
SSieh YA~ T |
(i) < o Y g aRi AB 3T CD & Rges 31w g 68 10 pC/m 3TN
—20 pC/m 2 | ¥ TR Th gHL < TR 1 m gt W f4d § | 31 ari & wed
farrg W e ferga &= w1 aftmon ST fem 31 hifT |

33. (a) (i) ofUeh! O 9REY 31@Fd X, Y 3R Z feu 7w § | o7 sfewat #i ah-ar 8
fopeft feu U ac g @ gAfsa fopan T B | I8 IR Srar @ T 3raee X %

U VIR I ST 2, WY%{?WI@V(E)W%WMZ

a;fmvﬁl( )W%IWX Y 3R Z 1 9g=H i |

(i) TfEy St gfaemar o fou 39 fRufa T s wunfua Hifse s 41 3teeE X,
Y 3R Z ac @@ 9 Jvft § 9AfSd § | STIIIH ac EA i AERT o 1Y
gftaey =t ey | feremor b1 g o fore 7 i |
(iii) TrEt LCR 2oft uftaer = fow ag s grea hifsre e (1) afer 6 afamen
Frran Bieft 3 A (i1) ufwY § areda e yartad g | |
AYET
33. (b) (1) Tl TERER F1 TEET 9UT SR ST GUH ST TR 39 THR i

ﬁmmﬁ%ﬁaﬁwﬁ;wﬁﬁ( j%%nmm@ﬁq |
(i) Toreft amaferes ST o Il &1 o TR & SHRUI hi foerT HIfT |
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32. (a) (@) Draw equipotential surfaces for an electric dipole.
(i) Two point charges q; and q, are located at T ; and T 9

%
respectively in an external electric field E. Obtain an expression
for the potential energy of the system.
(iii) The dipole moment of a molecule is 1073 Cm. It is placed in an

%
electric field E of 10° V/m such that its axis is along the electric

field. The direction of E 1s suddenly changed by 60° at an
instant. Find the change in the potential energy of the dipole, at
that instant.
OR
32. (b) (1) A thin spherical shell of radius R has a uniform surface charge
density o. Using Gauss’ law, deduce an expression for electric
field (1) outside and (i1) inside the shell.

(11) Two long straight thin wires AB and CD have linear charge
densities 10 puC/m and —20 uC/m, respectively. They are kept
parallel to each other at a distance 1 m. Find magnitude and
direction of the net electric field at a point midway between them.

33. (@) (1) You are given three circuit elements X, Y and Z. They are
connected one by one across a given ac source. It is found that V

and I are in phase for element X. V leads I by Gj for element Y

while I leads V by &j for element Z. Identify elements X, Y and Z.

(1)) Establish the expression for impedance of circuit when
elements X, Y and Z are connected iIn series to an ac source.
Show the variation of current in the circuit with the frequency
of the applied ac source.

(111) In a series LCR circuit, obtain the conditions under which
(1) impedance is minimum and (i1) wattless current flows in the
circuit.

OR

33. (b) (1) Describe the construction and working of a transformer and

s

hence obtain the relation for [v j in terms of number of turns of
P
primary and secondary.

(1) Discuss four main causes of energy loss in a real transformer.
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